Journal of Linear and Topological Algebra Vol. 10, No. 02, 2021, 145-152



On the automorphism groups of 2-generator 2-groups of class two

M. Hashemi^{a,*}, M. Polkouei^a ^a Mathematics Faculty, University of Guilan, Rasht, Iran.

Received 25 March 2020; Revised 27 May 2021; Accepted 28 May 2021. Communicated by Shervin Sahebi

Abstract. In this paper, by using the relations and properties of some classes of two generator 2-groups of nilpotency class two, we find the order of automorphism group of these groups. © 2021 IAUCTB.

Keywords: Automorphism groups, 2-groups, nilpotency class.2010 AMS Subject Classification: 20D45, 20D15.

1. Introduction and preliminaries

Most of the authors that have been interested in studying automorphism groups, have considered the automorphism groups of p-groups. For example, Jamali in [3] considered some nonabelian 2-groups with abelian automorphism groups. Bidwell and Curran in [1] found the order, structure and presentation for the automorphism group of a split metacyclic p-group. Here, we calculate the order of automorphism groups of some classes of 2-groups. In [2], Hashemi found the order of automorphism groups of some classes of 2-generator nilpotent groups of nilpotncy class two.

Suppose that $N \triangleleft G$ and there is a subgroup H such that G = NH and $H \cap N = \{e\}$, then G is said to be the semidirect product of N and H; in symbols $G = N \rtimes H$. Each element of G has a unique expression of the form ab where $a \in N$ and $b \in H$. Now, by using this notation, we state the following classification theorem without proof.

Theorem 1.1 [4] Let G be a finite nonabelian 2-generator 2-group of nilpotency class two. Then G is isomorphic to exactly one group of the following four types:

(1) $G \cong (\langle c \rangle \times \langle a \rangle) \rtimes \langle b \rangle$, where [a, b] = c, [a, c] = [b, c] = 1, $|a| = 2^{\alpha}$, $|b| = 2^{\beta}$, $|c| = 2^{\gamma}$, $\alpha, \beta, \gamma \in \mathbb{N}$, $\alpha \ge \beta \ge \gamma$;

*Corresponding author.

© 2021 IAUCTB. http://jlta.iauctb.ac.ir

E-mail address: m_hashemi@guilan.ac.ir (M. Hashemi); mikhakp@yahoo.com (M. Polkouei).

- (2) $G \cong \langle a \rangle \rtimes \langle b \rangle$, where $[a, b] = a^{2^{\alpha \gamma}}$, $|a| = 2^{\alpha}$, $|b| = 2^{\beta}$, $|[a, b]| = 2^{\gamma}$, $\alpha, \beta, \gamma \in \mathbb{N}$, $\alpha \ge 2\gamma, \beta \ge \gamma, \alpha + \beta > 3$;
- $\begin{array}{l} \alpha \geqslant 2^{\gamma}, \ \beta \geqslant \gamma, \ \alpha + \beta \geqslant 3, \\ (3) \ G \cong (\langle c \rangle \times \langle a \rangle) \rtimes \langle b \rangle, \ \text{where } [a, b] = a^{2^{\alpha \gamma}}c, \ [c, b] = a^{-2^{2(\alpha \gamma)}}c^{-2^{\alpha \gamma}}, \ |a| = 2^{\alpha}, \\ |b| = 2^{\beta}, \ |c| = 2^{\sigma}, \ |[a, b]| = 2^{\gamma}, \ \alpha, \beta, \gamma, \sigma \in \mathbb{N}, \ \beta \geqslant \gamma > \sigma, \ \alpha + \sigma \geqslant 2\gamma; \end{array}$
- (4) $G \cong (\langle c \rangle \times \langle a \rangle) \langle b \rangle$, where $|a| = |b| = 2^{\gamma+1}$, $|[a,b]| = 2^{\gamma}$, $|c| = 2^{\gamma-1}$, $[a,b] = a^2c$, $[c,b] = a^{-4}c^{-2}$, $a^{2^{\gamma}} = b^{2^{\gamma}}$, $\gamma \in \mathbb{N}$.

The following lemma establishes some properties of groups of nilpotency class two.

Lemma 1.2 If G is a group and $G' \subseteq Z(G)$, then the following hold for every integer k and $u, v, w \in G$:

(i) [uv, w] = [u, w][v, w] and [u, vw] = [u, v][u, w];

(ii)
$$[u^k, v] = [u, v^k] = [u, v]^k$$
;

(iii) $(uv)^k = u^k v^k [v, u]^{k(k-1)/2}$.

2. Main Results

146

In this section, we consider some classes of 2-generator 2-groups of class 2 and find the order of their automorphism groups. Also, we check the results by Group Algorithm Programming(GAP)[5].

Theorem 2.1 Let $G \cong (\langle c \rangle \times \langle a \rangle) \rtimes \langle b \rangle$, where [a, b] = c, [a, c] = [b, c] = 1, $|a| = 2^{\alpha}$, $|b| = 2^{\beta}$, $|c| = 2^{\gamma}$, $\alpha, \beta, \gamma \in \mathbb{N}$, $\alpha \ge \beta \ge \gamma$. Then

$$|Aut(G)| = \begin{cases} 2^{\alpha+3\beta+2\gamma-2} & \alpha > \beta \ge \gamma\\ 3 \times 2^{4\alpha+2\gamma-3} & \alpha = \beta > \gamma\\ 2^{6\alpha-3} & \alpha = \beta = \gamma. \end{cases}$$

Proof. Let $f \in Aut(G)$. Also let $f(a) = c^{r_1}a^{s_1}b^{t_1}$, $f(b) = c^{r_2}a^{s_2}b^{t_2}$, $f(c) = c^{r_3}a^{s_3}b^{t_3}$, where $0 \leq s_1, s_2, s_3 < 2^{\alpha}$, $0 \leq t_1, t_2, t_3 < 2^{\beta}$ and $0 \leq r_1, r_2, r_3 < 2^{\gamma}$. Then $|f(a)| = |a| = 2^{\alpha}$. So we have $(f(a))^{2^{\alpha}} = (c^{r_1}a^{s_1}b^{t_1})^{2^{\alpha}} = a^{2^{\alpha}s_1}b^{2^{\alpha}t_1}c^{2^{\alpha}r_1-2^{\alpha-1}(2^{\alpha}-1)t_1s_1} = 1$. Therefore the below equations hold.

$$\begin{cases} 2^{\alpha}s_{1} \equiv 0 \pmod{2^{\alpha}} \\ 2^{\alpha}t_{1} \equiv 0 \pmod{2^{\beta}} \\ 2^{\alpha}r_{1} - 2^{\alpha-1}(2^{\alpha} - 1)t_{1}s_{1} \equiv 0 \pmod{2^{\gamma}}. \end{cases}$$

Similarly, $(f(b))^{2^{\beta}} = 1$ and $(f(c))^{2^{\gamma}} = 1$, which imply the equations

$$\begin{cases} 2^{\beta}s_2 \equiv 0 \pmod{2^{\alpha}} & 2^{\gamma}s_3 \equiv 0 \pmod{2^{\alpha}} \\ 2^{\beta}t_2 \equiv 0 \pmod{2^{\beta}} & \text{and} & 2^{\gamma}t_3 \equiv 0 \pmod{2^{\beta}} \\ 2^{\beta}r_2 - 2^{\beta-1}(2^{\beta} - 1)t_2s_2 \equiv 0 \pmod{2^{\gamma}} & 2^{\gamma}r_3 - 2^{\gamma-1}(2^{\gamma} - 1)s_3t_3 \equiv 0 \pmod{2^{\gamma}}. \end{cases}$$

Now, by defining the relation [a, b] = c, we have [f(a), f(b)] = f(c). It yields that $c^{s_1t_2-s_2t_1} = c^{r_3}a^{s_3}b^{t_3}$. Thus

$$\begin{cases} s_3 \equiv 0 \pmod{2^{\alpha}} \\ t_3 \equiv 0 \pmod{2^{\beta}} \\ s_1 t_2 - s_2 t_1 \equiv r_3 \pmod{2^{\gamma}}. \end{cases}$$

Now, we claim that r_3 can not be even. Suppose the contrary. So there exists $t \in \mathbb{N}$ such that $r_3 = 2t$. It follows that $(f(c))^{2^{\gamma-1}} = a^{2^{\gamma-1}s_3}b^{2^{\gamma-1}t_3}c^{2^{\gamma-1}r_3-2^{\gamma-2}(2^{\gamma-1}-1)t_3s_3} = 1$, which is contradiction. So r_3 must be odd. This, together with all of the above systems yield

$$\begin{cases} 2^{\alpha-1}(2^{\alpha}-1)t_{1}s_{1} \equiv 0 \pmod{2^{\gamma}} \\ 2^{\beta}s_{2} \equiv 0 \pmod{2^{\alpha}} \\ 2^{\beta-1}(2^{\beta}-1)t_{2}s_{2} \equiv 0 \pmod{2^{\gamma}} \\ 2^{\gamma-1}(2^{\gamma}-1)t_{3}s_{3} \equiv 0 \pmod{2^{\gamma}} \\ s_{3} \equiv 0 \pmod{2^{\alpha}} \\ t_{3} \equiv 0 \pmod{2^{\alpha}} \\ t_{3} \equiv 0 \pmod{2^{\beta}} \\ s_{1}t_{2} - s_{2}t_{1} \equiv r_{3} \pmod{2^{\gamma}} \\ (r_{3}, 2) = 1. \end{cases}$$
(*)

Now, for solving the above system, we consider the following four cases:

(1) $\alpha > \beta > \gamma;$ (2) $\alpha > \beta = \gamma;$ (3) $\alpha = \beta > \gamma;$ (4) $\alpha = \beta = \gamma.$

First, let $\alpha > \beta > \gamma$. Then, the system reduces to the following system

$$\begin{cases} 2^{\beta} s_2 \equiv 0 \pmod{2^{\alpha}} \\ s_1 t_2 - s_2 t_1 \equiv r_3 \pmod{2^{\gamma}} \\ s_3 \equiv 0 \pmod{2^{\alpha}} \\ t_3 \equiv 0 \pmod{2^{\alpha}} \\ (r_3, 2) = 1. \end{cases}$$

Since $2^{\beta}s_2 \equiv 0 \pmod{2^{\alpha}}$ and $0 \leq s_2 < 2^{\alpha}$, we can choose s_2 in 2^{β} ways. Also we have $s_3 \equiv 0 \pmod{2^{\alpha}}$ and $0 \leq s_3 < 2^{\alpha}$. Thus $s_3 = 0$. Similarly, from $t_3 \equiv 0 \pmod{2^{\beta}}$ and $0 \leq t_3 < 2^{\beta}$, we get $t_3 = 0$. Now, since $s_1t_2 - s_2t_1 \equiv r_3 \pmod{2^{\gamma}}$, $(r_3, 2) = 1$ and $2^{\alpha-\beta}|s_2t_1$, we conclude that s_1t_2 must be odd. This implies that s_1 and t_2 are odd. Therefore we can choose s_1 and t_2 in $2^{\alpha-1}$ and $2^{\beta-1}$ ways, respectively. By calculating s_1, s_2, t_1 and t_2 , the parameter r_3 can be only chosen in one way. Now, since t_1 is arbitrary and $0 \leq t_1 < 2^{\beta}$, so can be chosen in 2^{β} ways. In this system r_1 and r_2 are free, so each of them can be chosen in 2^{γ} ways. Consequently, the number of the solutions of this system will be $2^{\alpha+3\beta+2\gamma-2}$. Each of the three other cases can be solved similarly.

In the following, we check the number of the solutions of the system(*), for some values of α , β and γ , by GAP.

α	β	γ	The number of solutions
3	2	1	2^{9}
4	3	1	2^{13}
3	2	2	2^{11}
4	1	1	2^{7}
4	3	3	2^{17}
2	2	1	3×2^7
4	4	3	3×2^{19}
1	1	1	2^{3}
2	2	2	2^{3} 2^{9} 2^{15}
3	3	3	2^{15}

Theorem 2.2 Let $G \cong \langle a \rangle \rtimes \langle b \rangle$, where $[a, b] = a^{2^{\alpha - \gamma}}$, $|a| = 2^{\alpha}$, $|b| = 2^{\beta}$, $|[a, b]| = 2^{\gamma}$, $\alpha, \beta, \gamma \in \mathbb{N}$, $\alpha \ge 2\gamma$, $\beta \ge \gamma$, $\alpha + \beta > 3$. Then

$$|Aut(G)| = \begin{cases} 2^{\alpha+3\beta-\gamma-1} & \text{if } \alpha > \beta \geqslant \gamma, \alpha \geqslant 2\gamma, \alpha-\gamma \geqslant \beta;\\ 2^{2\alpha+2\beta-2\gamma-1} & \text{if } \alpha > \beta \geqslant \gamma, \alpha \geqslant 2\gamma, \alpha-\gamma < \beta;\\ 2^{4\alpha-2\gamma-1} & \text{if } \alpha = \beta \geqslant 2\gamma;\\ 2^{3\alpha+\beta-2\gamma-1} & \text{if } \beta > \alpha \geqslant 2\gamma. \end{cases}$$

Proof. Let $f \in Aut(G)$. Also let $f(a) = a^{r_1}b^{s_1}$, $f(b) = a^{r_2}b^{s_2}$, where $0 \leq r_1, r_2 < 2^{\alpha}$, and $0 \leq s_1, s_2 < 2^{\beta}$. Similar to the proof of the last theorem, $|f(a)|^{2^{\alpha}} = 1$ yields:

$$\begin{cases} 2^{\alpha} r_1 - 2^{2\alpha - \gamma - 1} (2^{\alpha} - 1) r_1 s_1 \equiv 0 \pmod{2^{\alpha}} \\ 2^{\alpha} s_1 \equiv 0 \pmod{2^{\beta}} \end{cases}$$

and $|f(b)|^{2^{\beta}} = 1$ implies:

$$\begin{cases} 2^{\beta} r_2 - 2^{\alpha + \beta - \gamma - 1} (2^{\beta} - 1) r_2 s_2 \equiv 0 \pmod{2^{\alpha}} \\ 2^{\beta} s_2 \equiv 0 \pmod{2^{\beta}}. \end{cases}$$

Moreover, we have $[f(a), f(b)] = f(a)^{2^{\alpha-\gamma}}$, which yields

$$\begin{cases} 2^{\alpha-\gamma}s_1 \equiv 0 \pmod{2^{\beta}} \\ 2^{\alpha-\gamma}(r_1s_2 - r_2s_1) \equiv 2^{\alpha-\gamma}(r_1 - 2^{\alpha-\gamma-1}(2^{\alpha-\gamma} - 1)r_1s_1) \pmod{2^{\alpha}}. \end{cases}$$

Consequently, we have

$$\begin{cases} 2^{\alpha}s_1 \equiv 0 \pmod{2^{\beta}} \\ 2^{\beta}r_2 - 2^{\alpha+\beta-\gamma-1}(2^{\beta}-1)r_2s_2 \equiv 0 \pmod{2^{\alpha}} \\ 2^{\alpha-\gamma}s_1 \equiv 0 \pmod{2^{\beta}} \\ 2^{\alpha-\gamma}(r_1s_2 - r_2s_1) \equiv 2^{\alpha-\gamma}(r_1 - 2^{\alpha-\gamma-1}(2^{\alpha-\gamma}-1)r_1s_1) \equiv 0 \pmod{2^{\alpha}}. \end{cases}$$

Now, we consider the following three different cases: (i) $\alpha > \beta$; (ii) $\alpha = \beta$; (iii) $\beta > \alpha$. First, we consider $\alpha > \beta$. In this case, if r_1 is even we get that $(f(a))^{2^{\alpha-1}} = 1$ which is contradiction. Consequently r_1 must be odd. So we have

$$\begin{cases} (r_1, 2) = 1\\ 2^{\beta} r_2 \equiv 0 \pmod{2^{\alpha}}\\ 2^{\alpha - \gamma} s_1 \equiv 0 \pmod{2^{\beta}}\\ r_1 s_2 - r_2 s_1 \equiv r_1 - 2^{\alpha - \gamma - 1} (2^{\alpha - \gamma} - 1) r_1 s_1 \equiv 0 \pmod{2^{\gamma}} \end{cases}$$

Now, we have two subcases $\beta > \gamma$ and $\beta = \gamma$. Let $\beta > \gamma$, then the above system will be reduced again and we encounter two subcases $\alpha > 2\gamma$ and $\alpha = 2\gamma$. If $\alpha > 2\gamma$, then we get the following congruence system

$$\begin{cases} (r_1, 2) = 1\\ 2^{\beta} r_2 \equiv 0 \pmod{2^{\alpha}}\\ 2^{\alpha - \gamma} s_1 \equiv 0 \pmod{2^{\beta}}\\ r_1 s_2 - r_2 s_1 \equiv r_1 \pmod{2^{\gamma}}. \end{cases}$$

Since r_1 is odd and r_2 is even, s_2 must be odd. Now, subcases $\alpha - \gamma \ge \beta$ or $\alpha - \gamma < \beta$ occur. Let $\alpha - \gamma \ge \beta$. Then the system will be reduced to the following system

$$\begin{cases} (r_1, 2) = 1\\ 2^{\beta} r_2 \equiv 0 \pmod{2^{\alpha}}\\ r_1(s_2 - 1) \equiv 0 \pmod{2^{\gamma}}. \end{cases} (**)$$

For solving the system, it is sufficient to find the number of solutions for r_1, r_2, s_1 and s_2 . Since r_1 is odd and $0 \leq r_1 < 2^{\alpha}$, it can be chosen in $2^{\alpha-1}$ ways. Also since $2^{\alpha-\beta}$ divides r_2 , we can choose it in 2^{β} ways. Furthermore, by solving $r_1(s_2-1) \equiv 0 \pmod{2^{\gamma}}$, we get that s_2 can be chosen in $2^{\beta-\gamma}$ ways and finally since s_1 is free, the number of its values is 2^{β} . Consequently, when $\alpha > \beta > \gamma$, $\alpha > 2\gamma$ and $\alpha - \gamma \ge \beta$ we have $|Aut(G)| = 2^{\alpha+3\beta-\gamma-1}$. So, when $\alpha > \beta$ we get the following cases:

$$\begin{cases} \beta > \gamma \begin{cases} \alpha > 2\gamma \begin{cases} \alpha - \gamma \ge \beta \\ \alpha - \gamma < \beta \end{cases} \\ \alpha = 2\gamma \end{cases} \\ \beta = \gamma \begin{cases} \alpha > 2\gamma \\ \alpha > 2\gamma \\ \alpha = 2\gamma \end{cases} \end{cases}$$

Similarly we can solve the systems in other subcases. The proof of parts (ii) and (iii) are similar.

The following table shows some of the results that have been obtained by GAP.

α	β	γ	The number of solutions
3	2	1	2^{7}
7	5	3	2^{17}
6	4	3	2^{13}
5	2	2	2^{8}
6	3	3	2^{11}
5	5	2	2^{15}
5	7	2	2^{17}

Theorem 2.3 Let $G \cong (\langle c \rangle \times \langle a \rangle) \rtimes \langle b \rangle$, where $[a,b] = a^{2^{\alpha-\gamma}}c$, $[c,b] = a^{-2^{2(\alpha-\gamma)}}c^{-2^{\alpha-\gamma}}$, $|a| = 2^{\alpha}$, $|b| = 2^{\beta}$, $|c| = 2^{\sigma}$, $|[a,b]| = 2^{\gamma}$, $\alpha, \beta, \gamma, \sigma \in \mathbb{N}$, $\beta \ge \gamma > \sigma$, $\alpha + \sigma \ge 2\gamma$. Then $|Aut(G)| = 2^{\alpha+\beta+\sigma-\gamma-1}$, where $\alpha - \gamma > \beta > \gamma$.

Proof. Let $f \in Aut(G)$. Also let $f(a) = c^{r_1}a^{s_1}b^{t_1}$, $f(b) = c^{r_2}a^{s_2}b^{t_2}$, $f(c) = c^{r_3}a^{s_3}b^{t_3}$, where $0 \leq s_1, s_2, s_3 < 2^{\alpha}$, $0 \leq t_1, t_2, t_3 < 2^{\beta}$ and $0 \leq r_1, r_2, r_3 < 2^{\sigma}$. Then since f is an automorphism, we obtain

$$\begin{cases} |f(a)| = 2^{\alpha}; \\ |f(b)| = 2^{\beta}; \\ |f(c)| = 2^{\sigma}; \\ f(a)^{-1}f(b)^{-1}f(a)f(b) = f(a)^{2^{\alpha-\gamma}}f(c); \\ f(c)^{-1}f(b)^{-1}f(c)f(b) = f(a)^{-2^{2(\alpha-\gamma)}}f(c)^{-2^{\alpha-\gamma}}. \end{cases}$$

These equations give the following congruence system:

$$\begin{array}{ll} (1) & 2^{\alpha}s_{1} + 2^{3\alpha - 2\gamma - 1}(2^{\alpha} - 1)t_{1}r_{1} - 2^{2\alpha - \gamma - 1}(2^{\alpha} - 1)t_{1}s_{1} \equiv 0 \pmod{2^{\alpha}} \\ (2) & 2^{\alpha}t_{1} \equiv 0 \pmod{2^{\beta}} \\ (3) & 2^{\alpha}r_{1} + 2^{2\alpha - \gamma - 1}(2^{\alpha} - 1)t_{1}r_{1} - 2^{\alpha - 1}(2^{\alpha} - 1)t_{1}s_{1} \equiv 0 \pmod{2^{\alpha}} \\ (4) & 2^{\beta}s_{2} + 2^{2\alpha + \beta - 2\gamma - 1}(2^{\beta} - 1)t_{2}r_{2} - 2^{\alpha + \beta - \gamma - 1}(2^{\beta} - 1)t_{2}s_{2} \equiv 0 \pmod{2^{\alpha}} \\ (5) & 2^{\beta}t_{2} \equiv 0 \pmod{2^{\beta}} \\ (6) & 2^{\beta}r_{2} + 2^{\alpha + \beta - \gamma - 1}(2^{\beta} - 1)t_{2}r_{2} - 2^{\beta - 1}(2^{\beta} - 1)t_{2}s_{2} \equiv 0 \pmod{2^{\alpha}} \\ (7) & 2^{\sigma}s_{3} + 2^{2\alpha + \sigma - 2\gamma - 1}(2^{\sigma} - 1)t_{3}r_{3} - 2^{\alpha + \sigma - \gamma - 1}(2^{\sigma} - 1)t_{3}s_{3} \equiv 0 \pmod{2^{\alpha}} \\ (8) & 2^{\sigma}t_{3} \equiv 0 \pmod{2^{\beta}} \\ (9) & 2^{\sigma}r_{3} + 2^{\alpha + \sigma - \gamma - 1}(2^{\sigma} - 1)t_{3}r_{3} - 2^{\sigma - 1}(2^{\sigma} - 1)t_{3}s_{3} \equiv 0 \pmod{2^{\sigma}} \\ (10) & (s_{1}t_{2} - t_{1}s_{2}) - 2^{\alpha - \gamma}(r_{1}t_{2} - r_{2}t_{1}) \equiv 2^{\alpha - \gamma}r_{1} + 2^{2\alpha - 2\gamma - 1}(2^{\alpha - \gamma} - 1)t_{1}r_{1} - 2^{\alpha - \gamma - 1}(2^{\alpha - \gamma} - 1)t_{1}s_{1} + r_{3} + 2^{2(\alpha - \gamma)}t_{1}r_{3} - 2^{\alpha - \gamma}t_{1}s_{3} \pmod{2^{\sigma}} \\ (11) & 2^{\alpha - \gamma}(s_{1}t_{2} - t_{1}s_{2}) - 2^{2(\alpha - \gamma)}(r_{1}t_{2} - r_{2}t_{1}) \equiv 2^{\alpha - \gamma}s_{1} + 2^{3\alpha - 3\gamma - 1}(2^{\alpha - \gamma} - 1)t_{1}r_{1} - 2^{2\alpha - 2\gamma - 1}(2^{\alpha - \gamma} - 1)t_{1}s_{1} + s_{3} + 2^{3(\alpha - \gamma)}t_{1}r_{3} - 2^{2(\alpha - \gamma)}t_{1}s_{3} \pmod{2^{\alpha}} \\ (12) & 2^{\alpha - \gamma}t_{1} + t_{3} \equiv 0 \pmod{2^{\beta}} \\ (13) & (s_{2}t_{3} - t_{2}s_{3}) - 2^{\alpha - \gamma}(r_{3}t_{2} - r_{2}t_{3}) \equiv 2^{\alpha - \gamma}r_{3} + 2^{2\alpha - 2\gamma - 1}(2^{\alpha - \gamma} - 1)t_{3}r_{3} - 2^{\alpha - \gamma}r_{1}t_{3} - 2^{\alpha - \gamma}r_{1}t_{3} - 2^{\alpha - \gamma - 1}(2^{\alpha - \gamma} - 1)t_{3}s_{3} + 2^{2(\alpha - \gamma)}r_{1}t_{3} - 2^{3(\alpha - \gamma)} - 1)t_{1}r_{1} - 2^{2(\alpha - \gamma) - 1}(2^{2(\alpha - \gamma)} - 1)t_{1}s_{1} + 2^{4(\alpha - \gamma)}r_{1}t_{3} - 2^{3(\alpha - \gamma)} - 1)t_{3}r_{3} - 2^{2(\alpha - \gamma)}r_{1}t_{3} \pmod{2^{\sigma}} \\ (14) & 2^{\alpha - \gamma}(s_{2}t_{3} - t_{2}s_{3}) + 2^{2(\alpha - \gamma)}(r_{3}t_{2} - r_{2}t_{3}) \equiv 2^{2(\alpha - \gamma)}s_{1}t_{3} + 2^{4(\alpha - \gamma)} - 1(2^{2(\alpha - \gamma)} - 1)t_{1}r_{1}r_{1} - 2^{3(\alpha - \gamma) - 1}(2^{\alpha - \gamma} - 1)t_{3}r_{3} - 2^{2(\alpha - \gamma) - 1}(2^{\alpha - \gamma} - 1)t_{3}s_{3} + 2^{5(\alpha - \gamma)}r_{1}t_{3} \pmod{2^{\alpha}} \\ (15) & 2^{2(\alpha - \gamma)}t_{1} + 2^{\alpha - \gamma}t_{3} \equiv 0 \pmod{2^{\beta}}. \end{array}$$

After simplification we obtain

$$\begin{cases} 2^{\alpha}t_{1} \equiv 0 \pmod{2^{\beta}} \\ 2^{\beta}s_{2} \equiv 0 \pmod{2^{\alpha}} \\ 2^{\sigma}s_{3} - 2^{\alpha+\sigma-\gamma-1}(2^{\sigma}-1)t_{3}s_{3} \equiv 0 \pmod{2^{\alpha}} \\ 2^{\sigma}t_{3} \equiv 0 \pmod{2^{\beta}} \\ (s_{1}t_{2} - t_{1}s_{2}) - 2^{\alpha-\gamma}(r_{1}t_{2} - r_{2}t_{1}) \equiv 2^{\alpha-\gamma}r_{1} + 2^{2\alpha-2\gamma-1}(2^{\alpha-\gamma}-1)t_{1}r_{1} - 2^{\alpha-\gamma-1}(2^{\alpha-\gamma}-1)t_{1}s_{1} + r_{3} + 2^{2(\alpha-\gamma)}t_{1}r_{3} - 2^{\alpha-\gamma}t_{1}s_{3} \pmod{2^{\sigma}} \\ 2^{\alpha-\gamma}(s_{1}t_{2} - t_{1}s_{2}) - 2^{2(\alpha-\gamma)}(r_{1}t_{2} - r_{2}t_{1}) \equiv 2^{\alpha-\gamma}s_{1} + 2^{3\alpha-3\gamma-1}(2^{\alpha-\gamma}-1)t_{1}r_{1} - 2^{2\alpha-2\gamma-1}(2^{\alpha-\gamma}-1)t_{1}s_{1} + s_{3} + 2^{3(\alpha-\gamma)}t_{1}r_{3} - 2^{2(\alpha-\gamma)}t_{1}s_{3} \pmod{2^{\alpha}} \\ 2^{\alpha-\gamma}t_{1} + t_{3} \equiv 0 \pmod{2^{\beta}} \\ (s_{2}t_{3} - t_{2}s_{3}) + 2^{\alpha-\gamma}(r_{3}t_{2} - r_{2}t_{3}) \equiv 2^{\alpha-\gamma}r_{3} + 2^{2\alpha-2\gamma-1}(2^{\alpha-\gamma}-1)t_{3}r_{3} - 2^{\alpha-\gamma-1}(2^{\alpha-\gamma}-1)t_{3}s_{3} + 2^{2(\alpha-\gamma)}r_{1} + 2^{3(\alpha-\gamma)-1}(2^{2(\alpha-\gamma)}-1)t_{1}r_{1} - 2^{2(\alpha-\gamma)-1}(2^{2(\alpha-\gamma)}-1)t_{1}s_{1} + 2^{4(\alpha-\gamma)}r_{1}t_{3} - 2^{3(\alpha-\gamma)}s_{1}t_{3} \pmod{2^{\sigma}} \\ 2^{\alpha-\gamma}(s_{2}t_{3} - t_{2}s_{3}) + 2^{2(\alpha-\gamma)}(r_{3}t_{2} - r_{2}t_{3}) \equiv 2^{2(\alpha-\gamma)}s_{1} + 2^{4(\alpha-\gamma)-1}(2^{2(\alpha-\gamma)}-1)t_{1}r_{1} - 2^{3(\alpha-\gamma)-1}(2^{2(\alpha-\gamma)}-1)t_{1}s_{1} - 2^{4(\alpha-\gamma)}s_{1}t_{3} + 2^{\alpha-\gamma}s_{3} + 2^{3(\alpha-\gamma)-1}(2^{\alpha-\gamma}-1)t_{3}r_{3} - 2^{2(\alpha-\gamma)-1}(2^{\alpha-\gamma}-1)t_{3}s_{3} + 2^{5(\alpha-\gamma)}r_{1}t_{3} \pmod{2^{\alpha}}) \end{cases}$$

Let $\alpha - \gamma > \beta > \gamma$. First, we claim that s_1 must be odd. Suppose the contrary. Then there exist integer s such that $s_1 = 2s$. Thus

$$(f(a))^{2^{\alpha-1}} = c^{2^{\alpha-1}r_1 + 2^{2\alpha-\gamma-1}(2^{\alpha}-1)t_1r_1 - 2^{\alpha-1}(2^{\alpha}-1)t_1s_1}$$
$$a^{2^{\alpha-1}s_1 + 2^{3\alpha-2\gamma-1}(2^{\alpha}-1)t_1r_1 - 2^{2\alpha-\gamma-1}(2^{\alpha}-1)t_1s_1}b^{2^{\alpha-1}t_1} = a^{2^{\alpha}s} = 1$$

which is a contradiction to $|f(a)| = 2^{\alpha}$. This together with condition $\alpha - \gamma > \beta > \gamma$ reduce the above system to the following system

$$\begin{cases} (s_1, 2) = 1 \\ t_3 = 0 \\ 2^{\beta} s_2 \equiv 0 \pmod{2^{\alpha}} \\ 2^{\sigma} s_3 \equiv 0 \pmod{2^{\alpha}} \\ s_1(t_2 - 1) \equiv s_3/2^{\alpha - \gamma} \pmod{2^{\gamma}} \\ s_1 t_2 \equiv r_3 \pmod{2^{\sigma}}. \end{cases}$$
(***)

Since s_1 is odd and $0 \leq s_1 < 2^{\alpha}$, it can choose its values in $2^{\alpha-1}$ ways. Also since $2^{\alpha-\beta}|s_2$ and $0 \leq s_2 < 2^{\alpha}$, the number of choices for s_2 is equal to 2^{β} . Furthermore we have $2^{\alpha-\sigma}|s_3$ and $0 \leq s_3 < 2^{\alpha}$. This implies that s_3 has 2^{σ} ways for choosing its values. Now, by putting s_1 and s_3 , the parameter t_2 will be obtained. So, t_2 has one choice when $0 \leq t_2 < 2^{\gamma}$. But $0 \leq t_2 < 2^{\beta}$, therefore we must multiply the number of solutions to $2^{\beta-\gamma}$. Then by putting s_1 and the obtained t_2 , we get r_3 . Hence r_3 can just have one choice. Also, it is clear that t_3 has one choice too. Now by multiplying the number of choices of each parameter, we get that the number of solutions of the system(* * *) is $2^{\alpha+2\beta+\sigma-\gamma-1}$. All that remains to be done is to multiply the number of choices of free parameters of this system which are t_2 , r_1 and r_2 . Consequently, we have

$$|Aut(G)| = 2^{\alpha + 3\beta + 3\sigma - \gamma - 1}.$$

In the following table, we bring the number of solutions of system(* * *) for some values of σ , γ , β and α .

σ	γ	β	α	The number of solutions
1	2	3	7	2^{11}
1	2	3	8	2^{12}
1	2	4	8	2^{14}
1	3	4	8	2^{13}
2	3	4	8	2^{14}
2	4	5	10	2^{17}
1	3	5	10	2^{17}

Acknowledgement

The authors would like to thank the referee for the valuable comments to improve the present paper.

References

- J. N. S. Bidwell, M. J. Curran, The automorphism group of a split metacyclic p-group, Arch. Math. 87 (6) (2006), 488-497.
- [2] M. Hashemi, On the automorphism of some classes of groups, Ukrainian Math. J. 61 (12) (2009), 1995-2007.
- [3] A. R. Jamali, Some new nonabelian 2-groups with abelian automorphism groups, J. Group Theory. 5 (1) (2002), 53-57.

- [4] L. C. Kappe, N. Sarmin, M. Visscher, Two-generator 2-groups of class two and their nonabelian tensor squares, Glasgow Math. J. 41 (1999), 417-430.
 [5] The GAP Group, GAP-Groups, Algorithms, and Programming, Version 4.4.12. (http://www.gap-
- system.org)